CHAPTER 4 BLM 4.2.6A

answerkey | Dalton’s Law of Partial
Pressures Answer Key

1. PR, =(0.42)(250kPa) P,, =(0.25)(250kPa) Po, =(0.33)(250kPa)
P, =1.0x10° kPa o, =62 kPa Peo, =82 kPa

o 7mol O, 90kPa 7mol O, 90kPa 7mol O,  90kPa
6mol N, P, 12mol CO P, 10mol H,0 R,
Py, =77kPa P., =1.5x10°kPa P, =1.3x10°kPa
Pt = Po2 + PN2 + P+ PHZO

=90kPa+77kPa+154kPa+129kPa
=4.5x10°kPa
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3. (a) B, at 21°C=2.49kPa
Py =P..—P

co, — Ttotal — FH,0

Peo, =101.5kPa—2.49kPa
Peo, =99.0kPa

1L
() V ‘(250mL)(1000 mL
T =21°C+273.15=294.15K
PV =nRT
L_PV
RT
(99.0kPa)(0.250L)
kPa-L
molsK
n=1.0x10" mol CO,(g)

J =0.250L

n=

(8.314 j(294.15 K)

Copyright © 2007, McGraw-Hill Ryerson Limited, a Subsidiary of the McGraw-Hill Companies. All rights reserved.
This page may be reproduced for classroom use by the purchaser of this book without the written permission of the publisher.



